s T | | :
© 2002 American Chemical Society, J. Org. Chem., Zhan jo0111614 Supporting Info Page 1 ipt

Hecelved

JAN 302002

JOC/Pouiter

A General Method for thePreparation of 4- and 6-Azaindoles
Zhongxing Zhang, Zh(;ng Yang, Nicholas A. Meanwell, John F. Kadow and Tao
Wang*

Department of Chemistry, The Bristdl-Myers Squibb Pharmaceutical Research Institute

5 Research Parkway, Wallingford, CT 06492

Supporting Materials
Page S2 | HRMS Results
bPage S3-SS Supporting Material: Spectra Data
Page S6 Figure Captioﬁs

Page S7-S17 'H and "C of Azaindoles

S1




©’_2005 American Chemical Society, J. Org. Chem., Zhan jo0111614 Supporting Info Page 2

HRMS Results
Compound Formula Theoretic Observed | Deviation in
Number [M+H] m/z. m/z ppm
4a C8HIN20 149.0715 149.0720 34
4b C13H10FN20 229.0777 229.0787 4.3
4c C7H6CIN2 | 153.0220 153.0225 3.6
4f C8HON2 . 133.0766 133.0767 1.0
4h C14H13N20 225.1028 225.1029 0.5
4i C8HON20 149.0715 149.0721 -3.9
4j C7H6CIN2 153.0220 153.0216 -2.3
5 C7THTN2 119.0609 119.0612 -2.1
Compound Formula Theoretic Observed | Deviation in
Number : [M-H] n/z. m/z ppm
4d C8H6BrN20 224.9664 224.9666 -1.1
4e C7H3BrCIN2 228.9168 228.9173 -1.9
4g C8H6CIN2 165.0220 165.0221 -1.1

S2




© 2002 American Chemical Society, J. Org. Chem., Zhan jo0111614 Supporting Info Page 3

Supporting Material: Spectra

7-Methoxy-6-azaindole 4a. '"H NMR (500 MHz, CD;0D) 67.81 (d, 1H, J = 2.85 Hz),
763 (d, 1H, J = 6.55 Hz), 7.55 (d, 1H, J = 6.65 Hz), 6.77 (d, 1H, J = 2.90 Hz), 4.39 s,
3H); '°C NMR (125 MHz, CD;0D) 6151.5, 139.0, 135.2, 127.0, 121.1, 112.6, 105.2,

58.3; HRMS m/z: M+H)" calcd for CsHgN,O 149.0715, found 149.0720.

7-(2-Fluoro-phenyloxy)-é-azaindole 4b. 'H NMR (500 MHz, CD3OD) d1.61 r(d, 1H, J
=2.95 Hz), 7.54 (d, 1H, J = 5.85 Hz), 7.41 (d, 1H, J = 5.90 Hz), 7.29 (m, 4H), 6.66 (d,
1H, J = 2.90 Hz); '>C NMR (125 MHz, CD;OD) 8156.9, 154.9, 150.0, 138.8, 132.6,
1324, 128.2, 126.4, 124.7, 122.0, 118.2, 113.6, 103.9; HRMS m/z: (M+H)" calcd for

C13H10FN;0 229.0777, found 229.0787.

7-Chloroe-6-azaindole 4¢c. "H NMR (500 MHz, CD30D) §7.84 (d, 1H, J = 7.95 Hz), 7.76
(m, 2H), 6.61 (d, 1H, J = 5.45 Hz); °C NMR (125 MHz, CD;0D) 4137.6, 136.7, 135.3,
131.6, 131.3, 116.3, 103.6; HRMS m/z: (M+H)" calcd for C7HeCIN, 153.0220, found

153.0225.

4-Bromo-7-methoxy-6-azaindole 4d. '"H NMR (500 MHz, CDCl3) &8.85 (b, 1H), 7.84
(s, 1H), 7.31 (d, 1H, J = 5.5 Hz), 6.57 (d, 1H, J = 5.15 Hz), 4.08 (s, 3H); 3C NMR (125
MHz, CDCl3) 6158.5, 135.7, 134.3, 126.4, 120.9, 105.5, 103.3, 53.4; HRMS m/z: M-H)

caled for CsHgBrN,O 224.9664, found 224.9666.

S3 -




©‘2005 American Chemical Society, J. Org. Chem., Zhan jo0111614 Supporting Info Page 4

4-Bromo-7-chloro-6-azaindole 4e. '"H NMR (500 MHz, DMSO-ds) &8.05 (s, 1H), 7.79
(d, 1H, J = 3.00 Hz), 6.58 (d\, 1H, J = 3.00 Hz), 3.40 (b, 1H); °C NMR (125 MHz,
DMSO-dg) 8137.2, 134.3, 132.9, 131.6, 129.3, 110.9, 102.2; HRMS m/z: (M-H) calcd

for C;H;3;BrCIN; 228.9168, found 228.9173.

7-Methyl-4-azaindole 4f. "H NMR (500 MHz, CD;OD) 88.41 (d, 1H, J = 6.00 Hz), 8.07
(d, 1H, J = 3.25 Hz), 7.49 (d, 1H, J = 6.05 Hz), 6.84 (d, 1H, J = 3.2 Hz), 2.84 (s, 3H);
3¢ NMR (125 MHz, CD;OD) 8143.2, 137.2, 136.8, 135.0, 133.6, 119.0, 97.9, 17.6;

HRMS m/z: (M+H)" caled for CsHgN, 133.0766 found 133.0767.

5-Chloro-7-methyl-4-azaindole 4g. '"H NMR (500 MHz, DMSO-dg) 87.67 (d, 1H, J =
5.95 Hz), 6.97 (s, 1H), 6.50 (d, 1H, J = 4.85 Hz), 2.50 (s, 3H); 3C NMR (125 MHz,
DMSO-dg) 8144.8, 142.5, 133.0, 129.6, 127.4, 116.1, 101.4, 16.0; HRMS m/z: (M-H)

caled for CgHgCIN; 165.0220, found 165.0221.

7-Benzyloxy-4-azaindole 4h. "H NMR (500 MHz, CDCl3) 88.64 (b, 1H), 8.34 (d, 1H, J
= 5.35 Hz), 7.40 (m, 6H), 6.72 (d, 1H, J = 3.25 Hz), 6.67 (d, 1H, J = 5.45 Hz), 5.35 (s,
2H); °C NMR (125 MHz, CDCl;) 5151.'1, 1479, 145.2, 135.8, 128.8, 128.6, 127.9,
126.3, 119.6, 103.9, 99.6, 70.2.; HRMS miz: (M+H)+ calcd for C14H;3N,O 225.1028,

found 225.1029.

S4




© 2002 American Chemical Society, J. Org. Chem., Zhan jo0111614 Supporting Info Page 5

7-Methoxy-4-azaindole 4i. '"H NMR (500 MHz, CD;0D) &8.16 (d, 1H, J = 5.55 Hz),
7.41 (d, 1H, J =3.20 Hz), 6.74 (d, 1H, ]V= 5.55 Hz), 6.52 (d, 1H, J = 3.15 Hz), 4.04 (s,
3H); C NMR (125 MHz, CD;0D) 6154.5, 148.3, 145.0, 128.6, 102.4, 99.5, 56.2;

HRMS m/z: (M+H)" calcd for CgHgN,O 149.0715, found 149.0721.

7-Chloro-4-azaindole 4j. 'H NMR (500 MHz, CD,OD) 68.50 (d, 1H, J = 6.20 Hz), 8.10
(d, 1H, J = 3.20 Hz), 7.71 (d, 1H, J = 6.30 Hz), 6.91 (d, 1H, J = 3.25 Hz); °C NMR (125
MHz, CD,OD) §148.5, 143.6, 131.5, 128.5, 128.1, 117.5, 103.4; HRMS m/z: (M+H)'

calcd for C,H,CIN, 153.0220, found 153.0216.

f

6-Azaindole 5. '"H NMR (500 MHz, CD;0D) &.67 (s, 1H), 8.03 (d, 1H, J = 5.55 Hz),
7.58 (d, 1H, J = 5.55 Hz), 7.53 (d, 1H, J = 3.05 Hz), 6.54 (d, 1H, J = 3.00 Hz); >’C NMR
(125 MHz, CD;0OD) 6137.9, 134.9, 134.8, 134.6, 131.0, 116.5, 102.1; HRMS m/z:

(M+H)" caled for C;H;N, 119.0609, found 119.0612.

S5




© 2002 American Chemical Society, J. Org. Chem., Zhan jo0111614 Supporting Info Page 6

Figures




© 2002 American Chemical Society, J. Org. Chem., Zhan jo0111614 Supporting Info Page 7

TN
N Z N
H
OMe 43 (_
.
{
|
|
|
|
!
-
f '
{
%cul Sl 4 -
WY wmémzﬁ:r [
E I?I @ s g sl fst e ~i |
o [ é 7 & 2 1 0
I )
bos 200 180 - 1o 120 100 ) ) o 2 0

S7




©2002 American Chemical Society, J. Org. Chem., Zhan jo0111614 Supporting Info Page 8

i
Bk F
N AN |
H ‘ ;
0-(2-F-Ph)
4b
| [
N ,‘
! ‘
| i
‘ j -
: _'/!Ul\ —Ji i _,t 1
Y Yo
el ] 2 S
oom 3 8 7 5 § i 3 2 1 0
C.
‘ |
b
— - ol lllh” 1 RS,
200 .m0 160 140 120 100 20 €0 ) r 2 )

S8




@,2005 American Chemical Society, J. Org. Chem., Zhan jo0111614 Supporting Info Page 9

| N {
N__~ N .
H \
Ci
4c
i
—
— —
| ' . .
- ;L _ % Jr -
o i v A A .
= | il - a4 4
B! 9 é 7 é S 3 2 b3 o
L ‘
200 180 S0 140 120 IR 80 g0 a0 ) 20~ 0

S9




© 2002 American Chemical Society, J. Org. Chem., Zhan j00111614 Supporting Info Page 10

Br jr—
TN
N _A~\
H
OMe
4d _
{
I
I
o F ‘
:’ |
| | -
Y
— A JL A il
- l ;
- Y e
E <l = s Pogs B - j
o ) ] 7 P 3 B 3 H 1 0 'i

T T T
a0 - 60

aoe 200 180

s10




© 2002 American Chemical Society, J. Org. Chem., Zhan jo0111614 Supporting Info Page 11

Br
l DI
N =~ N I
H
Cl i
4e
§ -
Jl JL [
iﬁf W Y Wﬁf i ‘W
bow H i 0
i
- I SR
260 180 160 140 120 100 80 & ) P 3

Sit




© 2002 American Chemical Sociéty, J. Org. Chem., Zhan jo0111614 Supporting Info Page 12

z
N\
~rz

o L

L

N

o
ﬂ 3
B Q a 1
2 i© ‘
—— T - T I T
208 9 8 7 . .

! i 20
6 ) 2 8 60 ©
280 200 160 160 140 120 100

S12




© 2002 American Chemical Society, J. Org. Chem., Zhan jo0111614 Supporting Info Page 13




© 2002 American Chemical Society, J. Org. Chem., Zhan jo0111614 Supporting Info Page 14

 Sl4




© 2002 American Chemical Society, J. Org. Chem., Zhan j00111614 Supporting Info Page 15

S15




© 2002 American Chemical Society, J. Org. Chem., Zhan j00111614 Supporting Info Page 16

—




© 2002 American Chemical Society, J. Org. Chem., Zhan j001116'14 Supporting Info Page 17

Z—
N\ -
u1:r:z Py
-

s17




